
t(i). Hq t rehgulor s\ee*

I roxt$ C3o) = \5oO

t0xtq 3 50

$= 15-Sx

Vdrrr.req $g \e'*s'uoX

= t*(ootq4 t 6x191 r3o

L tll +6151x30

360** \tox L)s-s{
46oox - 5{$* ($,om )

V: tEco> -Erto*

*= 4soo .. toto)

,rng ,:.kti,:.it) i: -t , Sa

\Edo-\gox=O

\= \s/6 $n X
.:dV
I>+ = -\ob (o

cii).

Sioce & ao , V is roxrn+O o\s, X= t .

tnuxirr$,rrrr v6\^rrr*-, V = 'isoo tB) *S'to(*lt

= gsrs c# 
N



Votum-cf Con

: n Clxf\
= +*sh.

/t*n\= tco r
I - IOOT\ IA\- -fifr\ = ={r*.

srlr{ffi- cltq qc ccnr rS
2 t- LnCr"t] t Lr()x)h.

= rn* + 4T1x ( +)
= 8n* + tor\

To 
'nhiroise ptcaUGion ctEt / tle srtcce oftc\ { o. cm

hcs is \R Nt*',rurn .

€
{Ix = I6rX -

frt +re tktuorfg tohY,

Lsq
*

ds
dry =o

dt !c,uf*= 16T t -F
r$\en x=lJ$l , fi,= t6r*H ) o

r(ru ='S
f=P , x=\E ."\ttrcrqg

3r:
$\e^ X=-.\E , S 'Ls q te sml[ttr $ohn_

$f,n,m,ucq S= 8tt [Ef .t 
&

: tE.Tl\ + 119.853J

: l55.bS coh.

Tht Nh.rtu*tn grcJu*iOr cN*'

5 1,56.S8
rso. x 3 =' -T'61 csts X


